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Problem Set for lesson 51							             Geometry
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1. 


If the diagonals of  are  and .  Which is always true?


(1) 					(2) 


(3) 				(4) 

2. 


In , diagonals  and  meet at E.  Which is always true?


(1) 					(2) 


(3) 					(4) 
 
3. 


In , diagonals  and  meet at E.  Which is always true?


(1)   is an isosceles triangle		(3) 


(2)  is a right triangle			(4)  is a right triangle


[image: ]
4. Given: ABCD is a parallelogram



  , , 
Prove: EBFD is a parallelogram
















oleObject1.bin

image3.wmf
AC


oleObject2.bin

image4.wmf
BD


oleObject3.bin

image5.wmf
ACBD

@


oleObject4.bin

image6.wmf
ACBD

^


oleObject5.bin

image7.wmf
DACBAC

Ð@Ð


oleObject6.bin

image8.wmf
DACBCA

@

VV


oleObject7.bin

oleObject8.bin

oleObject9.bin

oleObject10.bin

image9.wmf
AEEC

@


oleObject11.bin

image10.wmf
AEDE

@


oleObject12.bin

image11.wmf
AEDE

^


oleObject13.bin

image12.wmf
AEBAED

@

VV


oleObject14.bin

oleObject15.bin

oleObject16.bin

oleObject17.bin

image13.wmf
AED

V


oleObject18.bin

image14.wmf
ABDCDB

@

VV


oleObject19.bin

image15.wmf
ABD

V


oleObject20.bin

image16.wmf
AEB

V


oleObject21.bin

image17.emf
C

F

E B

D

A


image18.wmf
EAB


oleObject22.bin

image19.wmf
DCF


oleObject23.bin

image20.wmf
CFAE

@


oleObject24.bin

image1.png
Problem Set




image2.wmf
ABCD

Y


